Section 2-8: Angle Proofs- Notes

Congruence of angles is reflexive, symmetric, and transitive.
Reflexive Property /1 =2 /1

Symmetric Property If 21 = /2, then 22 = /1,

Transitive Property If 21 = £2, and 22 = 23, then £1 = ~3.
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Given: <1 and <4 are a linear pair
m<3 + m<1l =180
Prove: <3 and <4 are congruent
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Angles supplementary to the same angle

or to congruent angles are congruent. g
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Abbreviation: 4 suppl. to same £ or = 4 are =, T
e i
Example: fmst + ms2 = 180 and ms2 & P
mL3 = 180, then 41 = /£3. e

2.1 Angles complementary to the same angle X

or o congruent angles are congruent, AN

Abbreviation: & compl. to same £ or = £ are =

Hmst + ms2 =90 and ms2 =
MmLI = 90, then 21 = 23,

Example:
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Prove: If <6 and <8 are complementary,
the <7 is a right angle.
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Given: mZRSW = /TSl
Prove: m/ZRS5T = mzZWsU
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EX 4.

PROOF Copy and complete the proof of Theorem 2.6.

Given: /1 and £2 are supplementary.
£3 and Z4 are supplementary.
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Prove: /2= /3
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14, Given: ZABD = /Y XZ
Prove: ZCBD = /WXZ
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